Sl

9|

8|

@|

V|

Q|

b

(R(I st Sm.)-Statistics-G/GE-1.1Chg/CIHG/CB CS)

2020

STATISTICS — GENERAL
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Module : 1I
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Candidates are required to give their answers in their own words
as far as practicable.
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10.

[English Version]
The figures in the margin indicate full marks.

Group - A

Answer any five questions. 2x5

. Qualitative character of statistics is known as

(A) variable (B) attribute (C) data (D) information.
. Diagramatically median can be ascertained with the help of
(A) histogram (B) ogive
(C) frequency polygon (D) none of these.
. Number of Quartiles are
(A) two (B) three (C) four (D) none of these.
The S.D. of 1, 5, 3, 8, 2 will be
(A) 2-48 (B) 2-84 (C) 276 (D) 2-67.

. The mean deviation about Median from the following data will be

46, 79, 26, 85, 39, 65, 99, 29, 56, 72

(A) 20-4 (B) 194 (C) 193 (D) 20-9.
A distribution is said to be Platy-Kurtic when
(A) B>3 (B) B,=3 © B,<3 (D) B,=0.
. Value of the 2nd Central Moment is
(A) Zero (B) Mean (C) Variance (D) Median.
. Newton’s forward and backward formula can be used only when values of the arguments are
(A) equidistant (B) not equidistant
(C) constant (D) none of these.
. In an asymmetrical distribution the mode and mean are respectively ¥ 12-30 and I 18-48 The median
value is
(A) X 15-39 (B) T 16-42
(C) X 15-49 (D) % 16-30.

The A.M of two numbers is 5 and their GM. is 4. The value of H.M. is
(A) 4-47 (B) 32 (C) 625 (D) 5.
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Group - B
Answer any ten questions. 3x10
The harmonic mean of 2, a, 8 be 24/,, then the value of a is

(A) 9 (B) 4 (C) 6 (D) 8.

If y=-2x+5 and standard deviation of x is 12, then standard deviation of y is
(A) 24 (B) 12 (C) 24 (D) —-12.
The median of 12, 48, 30, 112, 62, 94, 75, 98 is

(A) 69 (B) 685 (C) 68 (D) 67-5.
C.V.=60% and Variance = 36, then the Mean is

(A) 8 (B) 10 © 12 (D) 14.

Lagrange’s interpolation formula is used for
(A) equal difference (B) unequal difference
(C) Both (A) and (B) (D) None of these.

From the following information,

x|0]1]2]3
Y11]0]5]10]8

the value of A3y, is equal to

(A) -6 (B) -7 () -8 (D) -9.

If the second and third central moments of a distribution be 4 and 12 respectively, then the skewness
of the distribution is

(A) 2°5 (B) 3 <) 15 (D) 3-5.

For a distribution the coefficient of skewness = 0-25, mean = 50 and mode = 42. Then coefficient of
variation of the distribution is

(A) 54% (B) 60% (C) 58% (D) 64%.

A3y, may be expressed as

(A))’3+3J’2+3)’1+)’o (B) )’2*2)/1+J/0
(C) y3=3y,+ 3y~ (D) None of these.

For a distribution Q; =36, O; =76 and coefficient of skewness = 0-3. Then the median is
(A) 40 (B) 50 (C) 46 (D) 52.
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21. The A.M. of the following distribution is 67-45 inches. Then the missing frequency is

Height (inch) | 60—62| 63—-65| 66—68| 69-71|72-74
Frequency 15 ? 126 81 24
(A) 25 (B) 45 (C) 50 (D) 54.

22. The mean of 5 observations is 4-4 and the variance is 8-24. If three of these five observations are
1, 2 and 6, then the other two are

(A) 5 and 8 (B) 4 and 9 (C) 4 and 7 (D) 5 and 9.

23. The first two central moments of the following distribution are :

Income (%) 62 65 68 72 75
Frequency 5 18 42 27 8
(A) 0,11-02 (B) 0,10 (C©) 1,135 (D) 1, 11-02.

24. Using Newton’s forward interpolation formula, the value of y, when x =3, is

x|2]4]6 |8
Y 161912039

(A) 5 (B) 6 (C) 7 (D) 8.

25. If £(1) =10, £(2) = 15 and f(5) = 42, then the value of x when f(x) =25 is
(A) 25 (B) 3-4 (C) 40 (D) 4-5.



